



姓名: _____

日期: _____ 分數: _____

$$(-10)^{(-2)} - (-3) =$$

$$2^{(-2)} - 1 =$$

$$(-10)^2 + (-8) =$$

$$(-9) + 10 =$$

$$2^0 - (-8) =$$

$$(-2) + 2 =$$

$$10^0 + 8 =$$

$$5 + (-4) =$$

$$2^2 + (-9) =$$

$$4^2 - (-5) =$$

$$(-8)^{(-2)} - 1 =$$

$$(-8)^2 + (-10) =$$

$$7^{(-1)} - (-1) =$$

$$10^2 + (-7) =$$

$$(-7) - 3 =$$

$$7^2 + (-1) =$$

$$(-4)^{(-2)} - 7 =$$

$$4^2 - (-8) =$$

$$(-10)^{(-2)} + 1 =$$

$$(-3) + 6 =$$



姓名: _____

日期: _____ 分數: _____

$$(-10)^{(-2)} - (-3) = \frac{301}{100} = 3\frac{1}{100}$$

$$2^{(-2)} - 1 = \left(-\frac{3}{4}\right)$$

$$(-10)^2 + (-8) = 92$$

$$(-9) + 10 = 1$$

$$2^0 - (-8) = 9$$

$$(-2) + 2 = 0$$

$$10^0 + 8 = 9$$

$$5 + (-4) = 1$$

$$2^2 + (-9) = (-5)$$

$$4^2 - (-5) = 21$$

$$(-8)^{(-2)} - 1 = \left(-\frac{63}{64}\right)$$

$$(-8)^2 + (-10) = 54$$

$$7^{(-1)} - (-1) = \frac{8}{7} = 1\frac{1}{7}$$

$$10^2 + (-7) = 93$$

$$(-7) - 3 = (-10)$$

$$7^2 + (-1) = 48$$

$$(-4)^{(-2)} - 7 = \left(-\frac{111}{16}\right) = \left(-6\frac{15}{16}\right)$$

$$4^2 - (-8) = 24$$

$$(-10)^{(-2)} + 1 = \frac{101}{100} = 1\frac{1}{100}$$

$$(-3) + 6 = 3$$